=a? x b3T% = a?b°

@ a®x (b3)?

@ (a3)2 % (bS) — a6b3
@ <a2>2 % (a3)2

P2 B2 — A x b = a5 = 420

@ (x3)2 X (y2)3 — x6y6






3. 24%°h + (2ab)® S S| AR F& ALY

4a 40{7 ® 4a2b




4.

48x%y% =[] = (—2x%y)2 ofl A [ ] Qbell a2 4129

® —6xy

@ 6xy

® 12xy

1
@ ——
6xy



5. 7tz dol7t (2a)* , =17} bab , A5THA| ] F1]7} 80a”p* A W,
Az o] dol=?

@D 2ab @ 20ab 3) Sab @ 2a2b B 8a2%b



(Ax?> =3x+1) = (—x* + Bx +4) = 3x> + 2x + C A A,B,C 9] 3=
217k 9 g ALY

® A=2,B=-1,C=3 @ A=4,B=-1,C=5
® A=4,B=-5C=-5 @® A=2B=5,C=3

® A=2.B=-5C=-3



7. 8x—-2y+2=4dx-y-3 <, 2x-3y+12xo WstAcz
LHER Y

® -10x+16 @ -10x-14 ® 12x+ 16

@ 10x-14 ® 10x-16



ol
RS
o|J
ofig
Nfo

ol

@ (=2)% x (-2)? = -16

@® 4x(-2)3 =32

@ 9x32=33

® (-3)x(-3)3 =34



ol
ol
o8
olg
o

ol

=%

@ y+y =

© p -l

@ a®+ab=a

G plo = plo — 1



10. 3%+ 3* 4 3* 2 73] ey H?

@ 3x+1 @ 33x @ 27x @ 3x+2 @ 3x+3






12, o5 3 24 g2 427

D 6ab + 3a x 2b = 4b>
4 3
@ 20a3+5b:§
® (-8a%) +4a+a=—2a>

2

8
@ 12a2b = 3ab® x 2a = b—a2

® 8a%b" + (—-2b%)3 x (—a®b) = a*b?



2
3

4

1
<5X2

Al
=

13.



14. @ Ao -3x2~12 Haflo} & 2 MelU ol 7% +57} ¥ gk,
87 ARG A2 Fotu?

@ x? @ x*+3 @ x2-3x-2

@ 4x2 -3x-1 B 4x2 —x4+5



15, -3x(x-2y-1)=Ax®+Bxy+Cxd W, ¥4 A, B, Cl & A+B+C
o] gh2?

@D -6 @ -5 3 0 @ 3 B 6



b2

Olt

16. (15x% + 9xy) + 3x + (25y% - 5xy) + 5y & 9]

@® 4x+ 8y @ 8x+ 4y @ 10x + 2y

@ 10x + 8y ® 14y



17.

WO 712, N2 o] Zol7t 242} 2a, 3a Q] 2-STAA| Q] Fu]7} 124 -
24a’b 21l & o, Eo]=?

@ a-2b @ a-4b ® 2a-2b

@ 2q - 4b B 2a — 24b



® -2



19.

x=2 b y=-3a+bA W, 20-5yF q bo] B Aoz &7

vrebdl e

@ 19a-17b @ 19a-Tb

@ 19+ 7b ® 194 + 3b

@ 19a - 3b






